P06 station #209 (V2) Figure 3
U-err std: 0.059median(U-err) [r/b: down- /up cast]

20 0.4
0.1 10 ? __ 1000 0.2
= 0 i 0 £ 0
c c <
N = g 2000
-10 Q -0.2
01 3000
I -20 -0.4
200 -0.68.0200.0Q.04 200
Super Ensemble # Residual [m/s] E\r}semble #
V-err std: 0.059 median(V-err) [r/b: down-/up-cgst] oce
-20 | 20 =—
a0 f 4 floe 10 1000 o2
il g
T ool 0 T 0 =
c R _E 0
o M:ﬂ l‘;‘.\"mzww‘ @ 2000
10 ML i 10 3
“I’W ‘ M 01 (a) o2
20f 20 3000 :
. I /
200 -0.6a8.0200.02.04 200 600

Super Ensemble #

Residual [m/s]

Ensemble #



